20243 =0iloh &

Al

LB SXIX2

Ol &F A

Al A

FA SAX2
33 NGAR=K
chel: XIHAISI S XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SXIX2 9,401,710 9,943,281 AB41,571
= 1,187,325
[ 1,315,825
Al 2,613,944
- 4,284,606
NS At S A 2,713,727 2,523,982 189,745
= 42,825
Al 905,420
- 1,765,482
NS AR S XA 2,200,203 2,039,626 160,577
Al 850,220
- 1,349,983
KIS A2/ SXIAY 2Bt 20,256 18,456 1,800
201 2= 12,716 10,916 1,800
01 AtR2t2lt] 3,500 3,500 0
SLIEER=1] 3,500
OZEQAIY U T2 HED, RN S
2,000,000 2,000
OMNol+s Ald & 2kt &2l &
1,000,000 1,000
042E 7Y 500,000 500
2 222 9,216 7,416 1,800
Oe-JRISE 2ER3
5002 *1,5000H* 12& 9,000
OMoi= =t SEAAE SHLI| AIESE
18,0002 ~12& 216
202 04| 2,430 2,430
01 =LHOLI 2,430 2,430
o220l 1,620
o+, s 1,620,000 1,620
O&= A2ISAERE 938 &t 810
o=, s 810,000 810
203 =4l 5,110 5,110
03 A=A 2= 5,110 5,110
OF2AH FA(SX&F=)
3,960,000 3,960
OFQAIH =2 (SXIXEM)
1,150,000& 1,150
e X+ K& 800 800 0
301 EetE2 N = 800 800
03 AR 2H A 5SS (XYMSA) 800 800
Ogel (&)Xt s=+=l, At
100,000 +8 800
SHIOAST K& 8,740 8,740 0




2A:

X ZH -
o=

SXIXIZ 4
INE=YNEEIE=PN

&Rl XSFAR S XA (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
301 LtENZ 8,740 8,740
03 AR 2EHFS(XILMHE) 8,740 8,740
OR¢ 0 A el 800,000 8- 6,400
OSUDAYR LBY XIR(5H)
234,0002 %10+ 2,340
SEA =N 24 917,268 918,981 A1,713
Al 830,140
- 87,128
201 Ler23 | 490 490
01 At2t2ltl 490 490
O#E0IZ HF MASIR 2
70,0003 +74 490
307 el2to| & 916,778 893,981 22,797
Al 830, 140
- 86,638
05 git?(& = 916,778 893,981 22,797
OSEAte =12 23| 866,347
o= 634,515,000 634,515
Al 571,062
- 63,453
oz 231,832,000 231,832
Al 208,647
- 23,185
OSEAMSIFKI2 SAHAL =E 50,431
o= 37,854,000 37,854
Al 37,8%4
o=z 12,577,000 12,577
Al 12,577
ARISXAE & B8R 2223 A& 173,528 180,986 AT,458
Al 20,080
- 153,448
301 2N = 159,628 160,986 A1,358
Al 9,380
- 150,248
10 ARIZSREEAS 140,868 140,266 602
OAIZISXIAIE AlRIS2R3 SA|
7,000 %234 2«86 140,868
14 IIEt2 83 18,760 20,720 1,960
OALIS XA 2= 1= 18,760,000 18,760
Al 9,380
- 9,380
307 @12t01 & 13,900 20,000 26,100
Al 10,700




2A:

X XH -
o=

SXIXIZ 4
INE=YNEEIE=PN

Rl XFAR S XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 3,200
10 Al SXAZEE 22X 13,900 20,000 26,100
OAIZISXIAIE SAR &S SKIEUE
A& 13,900,000& 13,900
Al 10,700
- 3,200
AN SRR (HEALY) 1,028,811 860,863 167,948
301 EtE NS 1,028,811 860,863 167,948
0 AR =224 1,028,811 860,863 167,948
OMIIEXAIE AMELLE 2e|(HE) 1,028,811
os= 922,500 « 123 «86H 952,020
OuEH| 3,2003 %2342 +86 & 64,397
on =4l 309,840 »40H 12,3%
NEFE T8 s UE0IX X 50,800 50,800 0
201 er23| 800 800
01 At2teltl 800 800
OUBRE FUFHTZ UEOIT NE &
24 800,000 800
301 EtE N = 50,000 50,000
03 A2 E A =TS (XL THH) 50,000 50,000
OHERS FUMATZ HS0IN N
50,000,000& 50,000
AHSAH 243t XA 480,480 451,312 29,168
= 42,825
Al 55,200
- 382,455
AESAHE 29 461,292 432,762 28,530
= 33,231
Al 55,200
- 372,861
202 048l 810 810
01 2L AL 810 810
OZ2|0tl 810,000& 810
307 212+01& 460,482 431,952 28,530
= 33,231
Al 55,200
- 372,051
05 git?(& = 460,482 431,952 28,530
OSHUHASAIEH 29 294,604
©el2A4dl(4Y) 215,604,000 215,604
o=22aH| 37,000,000& 37,000
OArgHI 8,000,000& 8,000
(OZNE=3=18 =3 34,000,000 34,000




2A:

SXIXIZ 4

M XHAt2 =X
ool NRZA 243 X2 31
SA - B ORI(B1) - HIRAY - BES A
O TTHASAI HIAE 24 #4351, A
50,000,000 50,000
Al 50,000
OXAZAF RCILI0IE X2 AR ()
75,139,000& 75,139
= 33,231
- 41,908
OFCg3 At 40,739
(©)iFal] 34,739,000& 34,739
o=2gt| 6,000,000& 6,000
Al 5,200
- 800
= S& ANASAEE IOt MUlA K& 19,188 18,550 638
= 9,59
- 9,54
307 2I2+01™ 19,188 18,550 638
= 9,569
- 9,59
05 2I2tRES 19,188 18,550 638
OXEASAN BE8Z 19, 188,000& 19,188
= 9,54
- 9,569
KGASIBHE M a3t 33,044 33,044 0
KNEASI2ZEoAN 23 29,644 29,644 0
201 L2 | 8,468 8,468 0
01 AtR2telt] 8,468 8,468 0
Ogerz3a| 7,700
OXIGA EEE O 2o&A & 7,700
OUEHAM 3o
70,0003 *30F *23 4,200
QL REAM 3o+
70,0003 x25F +23 3,500
OSZBI(AHEADIH 2t=)
8,0003 x1H+8Alx 123 768
202 0441 2,400 2,400
01 =WOdbI 2,400 2,400
OZUOHI(AIZIEERADIH 2t2)
20,0003 *1H 10« 12& 2,400
301 LPENZ 13,776 13,776
11 AU S 13,776 13,776
OXIG A SEEAM HHEA &I AHIA
& 240,000 *4H 960
OaR=1 2o/ & A AlHIXIA
10,0003 *8F *9E! 63| x80% 3,45




A SXXE

33 NGAR=K
el NFAS2EEAM 2dst EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O NotAEIS=ESH sloaA Atz
10,0003 152 x 135 +62] +80% 9,360
307 gl2to| & 5,000 5,000
11 ABI= XA 2 X 5,000 5,000
O AIBIZTAIGHI (2 22T}
5,000,000& 5,000
NeAtz 282 =8 X2 3,400 3,400 0
201 2= 3,400 3,400
01 At22telt] 3,400 3,400
OXSAt2 22 2red ol 3,400
O3l XtE el 5,000 x50 +43] 1,000
O2025E = HAXIE AHAHE HA M=
12,0003 x 100+ 12] 1,200
©2023HE HAXIE AlHAHE A2 M}
NEN 12,0003 x 1002+ 12] 1,200
=128 22l & X& 3,000,129 3,069,762 69,633
Al 1,161,960
- 1,838,169
SHEEEHAM S A 2 3,000,129 3,069,762 69,633
Al 1,161,960
- 1,838,169
SHREEHM & SRS K& 2,971,467 3,042,600 AT71,133
Al 1,161,960
T 1,809,507
201 er23| 700 700
01 AlR2telHl 700 700
OEEL FEA = =5 Xt
400,000 *1CH 400
Osl+=% 60,0002 *5H 300
203 =4l 800 900 A100
03 A=A 2= 800 900 2100
OFQAIH =& 800,000 800
301 LEIE NS 2,752,350 2,820,180 267,800
Al 1,161,960
- 1,590,390
03 A2 E A5 2 (XL THH) 2,749,550 2,817,350 A\67,800
OFHRSA Soll=& 1,605,000,000& 1,605,000
Al 1,161,960
- 443,040
O=2&gl=¢ 100,000 840 « 122 1,008,000
OFHEFSA AlY?IZ=
200,0002 x40 *13] 8,000
OE2HH 292
30,0002 *395H <23 23,700




2A:

M g 22l € K&
el 3RLECH S N 22 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O==289 € =224k 912
50,0003 *2,097 H*12] 104,850
11 #AIAHIXIZ S 2,800 2,800 0
OSUSEN 85 MHILAG. 1R, 2=1)
70,0002 x20 M| CH+22] 2,800
307 212+01& 217,617 220,850 A3,233
02 LB HAHE L 95,266 100,050 N4, 784
OdoI2da=S7X 3 6,500
OHA =d 4,000,000 4,000
O3 H AL 2,500,000& 2,500
OdzzZgd"r=as+Ad 7,300
(OFSESPRE| 2,000,000 2,000
O1NH2|H A} 2,200,000& 2,200
O©5& IOl & &AL 2,500,000& 2,500
CEELBENEERY
600,000 600
O&==Z0123 s+7X32 7,750
(OSSP | 2,750,000& 2,750
O1NHE2A AItHA} 2,500,000& 2,500
©5& JIUIOI & &AL 2,500,000& 2,500
OFREF=Eis s7X2 6,900
(OFSESPR| 2,200,000 2,200
O1NHE2[H AIQtHA} 2,200,000 2,200
0FJIs= & 422203
2,500,000 2,500
O6.25&8 8 =S S22 18,416
(OFSESPR| 3,670,000& 3,670
O©LY3|A CHHAL 3,656,000 3,656
©6.25 J|gAt 3,800,000& 3,800
O0==ES AZHA 3,190,000 3,190
OFII&E2 & 222U
3,100,000 3,100
OEE Tl L HSAIE=S A
1,000,000 1,000
OLgNERe S+AXI3 11,000
O&AX =d 2,000,000& 2,000
OLY3|H AQtHAL 2,500,000 2,500
O At == X 4,000,000 4,000
OLZEHe & & [Nl
2,500,000 2,500
OSSRk S22 4,000
(OFSESPR| 1,500,000& 1,500
O©LY3|A CHHAL 1,000,000 1,000
ogs AL 1,500,000& 1,500




A SXXE 0
= 2t

& 22l Y
el 3RLECH S N 22 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OF=1=rSE=rSPNs-TR==SnN e 6,200
OHA =dl 2,000,000& 2,000
O1NZE3A AIOHHAL 2,200,000& 2,200
OHEESEA =2 2,000,000& 2,000
ONg=2ol3] 4,500
O&HXl =d 2,000,000& 2,000
OHA=NSTUE 2,500,000& 2,500
Oz 28HHM g2z 19,700
Og2zl dHX = 15,000,000& 15,000
OE2lal ezl & 2383 &3
4,700,000& 4,700
O=468d3s|94 3,000
OIS ZAIA F24
3,000,000& 3,000
03 2R HEHE2SHIEX 122,351 120,800 1,551
Oy0Izda s+ A2 23|
15,680,000 15,680
ONEZZRZFISANE 24|
14,880,000 14,880
OdEe=2d0ILesS7Az 2]
14,280,000 14,280
OREs=2izs+Az 23|
14,859,000 14,859
Of. 258N 7BA2S?AE 23|
15,843,000 15,843
OLgME RS2 22|
15,284,000& 15,284
OS+=LRKFSA2S72X 2 24
6,000,000& 6,000
OZgdEd eSS 24|
12,215,000 12,215
O M=ol 2| 13,310,000& 13,310
SHEE=ENZ 2Y 28,662 27,162 1,500
201 el 28,662 27,162 1,500
01 At22t2lt] 9,360 9,360 0
Oggrzg] 9,360
O22ES 7L (X, #HEEES S)
80,0002 123 960
OSEHIANAY ESH]
200,000 * 122 2,400
OATAIE gt =538
150,000& « 12& 1,800
OBAI| HHBRYH 242
150,000& * 122 1,800
O&JIetZe|HE =2
100,000 »12& 1,200




A SXXE 0
= 2t

& 22l Y
cel: sREE0 S N 22 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFABSA=HE +4 8
100,000& * 12 1,200
02 S3=gHl 19,302 17,802 1,500
Os&k= € MA 15,802
(OFSPIETE= 800,000& * 122 9,600
(OPJESei=) 400,000 123 4,800
Os)l HladeEes 5,800& x12& 70
04 - ot R3 100,000& * 122 1,200
Ogx=tie SHsldl
132,0002 %12 132
OAlZ &I Xl 3,500
OoEs=X3a& HE S +cll
3,500,000& 3,500
SIY=ANSE 29 250,040 331,086 A\B1,046
= 15,000
[ 97,300
Al 66,275
- 71,465
S|g=EXEH 29 250,040 331,086 A\81,046
= 15,000
= 97,300
Al 66,275
- 71,465
g2 ™ HERD 25 & 29 6,190 6,290 A100
201 etz 3| 2,890 2,890 0
L2l 2,650 2,650
g =Ll 2,650
OI==7I 2 M S
1,000,000& 1,000
Os=L % SIHA
= 1,650,000& 1,650
02 S3=2gl 240 240
ogye 2t
20,0008 » 122 240
203 HR=&H] 800 900
03 A=A R 800 900
O=2AIH = 800,000 800
301 EtE N = 2,500 2,500
02 A2 HGS(FHAAS, NLHA) 2,500 0
OTSIMNE(MAS &, 1S8H)
250,000 %10 2,500
ANZT SEA2el X 15,000 15,000
[ 7,500
3,750




2A:

SXIXIZ 4

M s|U=N XA 2
Chel: SIY=EXXAL 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 3,750
201 er23y| 9,660 8,500 1,160
[ 4,830
Al 2,415
- 2,415
01 AtR22telbl 9,060 8,500 560
OAtell2telAlY 22| 9,060
0810 BALY(AHHIF U £24 59)
70,0002 x4 +23] 560
[ 280
Al 140
- 140
OALRI=Al St & P=Atell X+ &2t S
3,000,0 3,000
[ 1,500
Al 750
- 750
O22 & 29Hl & 5,000,000& 5,000
[ 2,500
Al 1,250
- 1,250
OAtefl2tel EEAt Sedstus A
500,000 500
= 250
Al 125
- 125
02 s3=gHl 600 0 600
OAtdl2iel g2 JUHE AIEE
50,000~ 1CH* 122 600
= 300
Al 150
- 150
202 04| 840 2,000 A1,160
= 420
Al 210
- 210
01 2LHA b 840 2,000 AT1,160
OSEAtdIZel A I 0]
70,0002 x4 +33] 840
= 420
Al 210
- 210
301 22N 4,500 4,500 0
= 2,250




2A:

SXIXIZ 4

M A=A 2g
Chel: SIY=EXXAL 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,125
T 1,125
01 Al EEATZ2(2DEZMR) 4,500 4,500 0
OAtellZtelAtE ArdH| 4,500
ORI 22l LA KR
500,000 9 4,500
[ 2,250
Al 1,125
- 1,125
SHS XEE SEAHA NEH 128,286 109,200 19,086
[ 89,800
Al 19,243
- 19,243
201 er2 3| 67,643 57,600 10,043
= 47,350
Al 10,147
- 10,146
01 At22t2lt] 67,643 57,600 10,043
O ABRIAR 2]
67,643,000& 67,643
= 47,350
Al 10,147
- 10,146
301 EtE NS 60,643 51,600 9,043
= 42,450
Al 9.0%
- 9,097
01 AR 2EHSHS(RDNEXRTHE) 60,643 51,600 9,043
OS Atell2tel ArgHl 60,643,000 60,643
s 42,450
Al 9.0%
- 9,097
ORI SASRE 22 1,000 1,000 0
201 Ler23 | 1,000 1,000
01 At22t2lt] 1,000 1,000
Oggrzg] 1,000
OR=EY, 2258 7Y S 500,000 500
Ogs=8 7¥ S 500,000 500
OSAL HEE At 22N 2Y 68,564 68,096 468
Al 34,282
- 34,282
307 212+01& 68,564 68,096 468
Al 34,282




2A:

SXIXIZ 4

mE: S|UST A 2
&t LS 29 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
- 34,282
10 Al S XA EEHE2IHIE X 68,564 68,096 468
ONEAl REE ARIZEIAY 22
68,564,000& 68,564
Al 34,282
- 34,282
PO AN ZAZ X3 1,000 1,500 A500
301 LBBNZ 1,000 1,500 A500
14 J|EI2 A3 1,000 1,500 AB00
OSID17t7 D Z43 X
50,0003 20 1,000
JOSAE Ol & 22| WA 2= A 30,000 130,000 A100,000
= 15,000
Al 9,000
- 6,000
201 2| 30,000 88,000 258,000
= 15,000
Al 9,000
= 6,000
01 A2 30,000 78,000 48,000
ONSA PIEe= B28 57 29 S
30,000,000 30,000
= 15,000
Al 9,000
- 6,000
NSAgorMa A 29 3,250,123 3,826,849 Ab76,726
= 1,129,500
= 1,218,525
Al 480,299
- 421,799
BEHA MRSXMEIA 2F 1,740,749 1,323,012 417,737
ax 1,218,525
Al 261,112
- 261,112
KNS ALS AHIAE XA 1,221,621 1,282,900 A61,279
= 855,135
Al 183,243
- 183,243
307 212+01™ 1,221,621 1,282,900 A61,279
= 855,135
Al 183,243
- 183,243
05 QIZIRIEr S 1,221,621 1,282,900 A61,279




A SXXE

g NG M 25 2
ol 2EA JASIAHA 25 (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORI A MBI~ S REAL]
1,221,621,000& 1,221,621
= 865,135
Al 183,243
- 183,243
FE0SHZ A2 A 19,334 40,112 N20,778
= 13,534
Al 2,900
- 2,900
307 glztol & 19,334 40,112 N20,778
s 13,534
Al 2,900
- 2,900
05 2IR”IRIE = 19,334 40,112 AN20,778
OFENSAL XA 19,334,000 19,334
= 13,534
Al 2,900
- 2,900
MBALSIMHIA ST (L ASEMHIA) 499,794 0 490,794
[ 349,85
Al 74,969
- 74,969
201 fer=3| 6,794 0 6,794
[ 4,7%
Al 1,019
- 1,019
01 AtR2telHl 6,794 0 6,794
OMEAS MHIAS TN (LA SEMEIA)
=gl 6,794,000 6.7%
[ 4,7%
Al 1,019
- 1,019
307 gl2to| & 493,000 0 493,000
[ 345,100
Al 73,950
- 73,950
05 2I2tRIE S 493,000 0 493,000
OMEAS MHIAS T (LA SEMEIA)
493,000,000 493,000
[ 345,100
Al 73,950
- 73,950
A==AXE 1,500,374 2,503,837 N994,463
= 1,129,500
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X XH -
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SXIXIZ 4
ASGA2 Y F15 2

i B =t NPT (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 219,187
T 160,687
S =XXS A 1,411,874 2,060,129 638,255
= 1,129,500
Al 141,187
- 141,187
301 22N = 1,411,874 2,060,129 638,255
= 1,129,500
Al 141,187
- 141,187
01 Al 2E A S(FRDEXMA) 1,411,874 2,050,129 638,255
O2sS=XXE A 1,411,874,000& 1,411,874
= 1,129,500
Al 141,187
- 141,187
St 21854 97,500 97,500 0
Al 78,000
- 19,500
301 22N = 97,500 97,500 0
Al 78,000
T 19,500
02 AR 2EH LGS (HAAS, NLWE) 97,500 97,500 0
Os¢te S XA 97,500,000 97,500
Al 78,000
- 19,500
=D ZdE2E 3,290 3,290 0
=g 3,290 3,290 0
SXHAA SSXA 3,290 3,290 0
201 el 2,480 2,480 0
01 At22t2lt] 800 800 0
OBI20 2T S OHYf - BEE HX
800,000 800
02 S3=gl 1,680 1,680 0
OSEXA BERFN JUE AISE
35,0003 x40+ 122 1,680
202 04| 810 810
01 =LHOLI 810 810
o220l 810,000 810
AH 2 ZHI 184,401 188,312 23,911
QI 2HHI(SXIXI2 1) 113,571 111,542 2,029
el 2d| 113,571 111,542 2,029
101 21A4H| 113,571 111,542 2,029
01 2= 105,261 103,497 1,764




2A:

;. ¥ 2Z 3
ool oI PHHI(SXIXIED) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
GES =P 105,261
OAltIRR 4y
12,5313 +3BA| 2+20H 123 105,261
02 JIEtME = 8,310 8,045 265
Ox=22=¢ 8,310
OAIIAZ DA (AIZHEEAIIF 212)
10, 1623 x3BAI 2Hx 1+ 123 4,269
OAIRIA224EH (AR 012)
9,620 *x35AI2Hx 18123 4,041
Jl2Z8I(SXXI0) 70,830 76,770 A5,940
JI23Hl 70,830 76,770 A5,940
201 et 3| 26,400 27,060 660
01 AtR2tc|Hl 26,400 27,060 2660
OJIZ2 A2l 21,0008 x22E 128 5,544
O=g4d 24| 100,000& «12& 1,200
ogxz 2,760
O=AD| Sit= 230,000 «1CH*12& 2,760
OS2 Al
8,000 x22H +8A!x 122 16,89%6
202 04l 37,680 42,960 25,280
01 2LHoIH 37,680 42,960 A\5,280
OZLH0AHI 20,0002 x2S +7 & * 122 36,960
OZLHOBI (AL RGN M OFS)
20,0003 1H+3& 123 720
203 =4l 6,750 6,750
01 J122geRF=a| 2,970 2,970
OosXaa3=% 3,300,000 *90% 2,970
M FA2HLRFAI 3,780 3,780 0
OI1EA(5H0I5H 350,0003 x 122 x90% 3,780




